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Write short answers of any SIX parts.

What is meant by real numbers?

Multiply: (2+ V3)5-43)

l
Express 54343 with rational denominator,

What is meant by remainder thecrem?
Factorize: x}+27

Define HCF factor.

Find the square root; 16x2 + 2dxy + Q'}rz '
FindLCMof.  x%—49 and x* —4x-21

Define linear equations.

Write short answers of any SIX parts.

Solve: Hx+3)-1d4+x

Solve by using factorization method:  x° —4x +12=0

What is meant by quadratic equation?

Find the determinants of matrices: A= [:i :ﬂ A =[

3 2
IfP=[5 4] then find p~!.
[refine rectangular matrix.

Find the value of x in the given triangle:

Write the equation for the given trianglerand solve it;

e
1
X

Define quadrilaterals,

Cetiile)

16x° + 24xy + 9y

x%—4x =21 x> =49

x1—4x+]2=1}
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Write short answers of any SIX parts. -d'a.gmﬁ&lr 43:.-&(
Define altitudes of a triangle. ZEAle s (i
What is meant by medians of a triangle? e sple Elbaledb (i)
Draw a triangle ABC in which: mAB=43m , mBC=54cm , mAC=39m - AU bABC 2 (i)

-ir:""&“&a -L-'r_rydf 12 JJJ;"'iij cmrﬂih*[”'#ﬂ/ll L (iv)
The sides of a right triangle are S5cm and 12¢m. Find the hypotenuse,

Find the area of a triangle whose sides are 5, 12, and 13. -_ér.-l*‘.}ab’mug 13 2 12 SUEHS LIS Fals ()
Write down the formula of area of a triangle. -a"}K ¥Rl el (vi)
What is meant by abscissa and ordinate? Pl b Tl sl (vid)

B G631 BC23) AMI) el (il
Show that the points A(4,3), B(-2,3) and C(-6,3) are collinear,

Define right angle triangle. _:;i' i /"".-f..t.l.f-f;u'l = (ix)

_ufﬂ 08 £r_Jfr';-f -ﬁg}:&l_.lﬁ&:.«ﬂb’ufa&! Al can
Part - II, Attempt any THREE questions. Each question carries 08 marks.

2 2
X X X X e
T e -+ cogl ;
Simplify: S _ ¥l }’2 = &5 A7 (L)
Factorize; 8% '"ﬁ% . éﬂfﬁ e
: —b’ _a’+ab+b’ 2’ ~b 8, & +ab+b o
lify: -+ . R 2 (L
Smphity: g a’ +b’ a'—p? a’+b* &/ ()
Solve: y~6+\/}f_=ﬂ y—6+ﬁ=ﬂ éf ()
Solve by completing the square method: x*-10x=3=0 2= S ;&)Lﬂfﬁ ()
Solve by Cramer's method: X+3y=6 |\ 2x+y=4 :E’,":’JL%}(C/{/K ()
Find the value of x in the given triangle: r.’fj_f-fral”' X ;_,tf,i-ﬁ*dgj (D)
a0
X 45%

AL M ekt B oS (L)

Draw an equilateral triangle with length of each sides 6em.
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If the legs of a right triangle are 2ab and a® —p?, prove that the h}fpotenu&r: is g2 1 p?.

What kind of a triangle has vertices? ~ A(6,-2), B(1,-2), C(-2,2) T;,‘r;.ﬂ.ﬁ.ﬁ'..f_if" L/ L L:J_' iTn (&)
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